NC Math 3 Reasoning with Geometry/Circles Review CP Name: KQ-L/ #
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Given PQRS is a parallelogram, find the measure of angle 2PSR. Explain how you know.
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If a quadrilateral is a parallelogram, then Correct?

Each diagonal divides the paralielogram into two congruent triangles T)or F

NN

Opposite angles are congruent T /or F

Consecutive angles are supplementary T Jor F [
. L
The diagenals are congruent T or@ '
The diagonals bisect each other T)or F !
The diagonals are perpendicular T or@ ‘

Use the word bank to fill in the following blanks. You will not use ail of the words and you may use words more than
once.

Word Bank:

Incenter Circumcenter Centroid Vertices

Sides Gravity Medians Perpendicular Bisectors

Circumscribed Inscribed Angle Bisectors Triangle
The angle bisectors of a triangle intersect at the 1/ C@_mle,r'" . This point is
equidistant tc each of the LS /D/@,Q) of the triangle, and is the center of a(n)

Y 5
' [/LSC_,}P»;L circle, :
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Perpendicular bisectors meet at the CA e o cenH-€ ¢# . This point is equidistant to each OC'I'LL

’ \ B
-\/«e_r*'}‘)' C,e,g of the triangle, and is the center ofa(ﬂ) C;/‘\(_))MS(J‘WLQ . __circle,

The point of concurrency for the medians of a triangle is called the C&’WL?*QJ 5/ . Itisf the center of

3 AW ’/L(»f for a triangle. It divides the megll’a_ﬂs into two segments whose lengths are in a ratio of
2:1,

Name the type of center of the triangle shown in the diagrams be_iow. Explain how you know.
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Point T is the incenter of APQR.

Find the measure of UR. Show your work or explain your reasoning.
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Ppint G is the centroid of AABC.

if AD=8, AG=10, BE=19, and A(=16, find the perimeter
of the triangle. Show your work or explain your

reasoning.
2(19) = 38
(&)= 32
/

Fill in the blanks below to make the statement true.

7) Point O is the circumcenter of AMNP.

Find the measure of 50. Show your work or explain your
reasoning.
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Atangent line to a circle is '}O-QFPQ/\J’C‘()/Q-V— to the radius drawn to the point of tangency.

The measure of a{n) CM'[’V‘% l

angle is equal to the measure of its intercepted arc.

If two arcs of a circle are congruent then their correspohding central angle measures are K_Ofba V‘ue.m‘[_ .

1
A radian is an angle unit equal to an angle at the center of the circle whose arcis equal in length to the _f'aol/ JS .

y o
The difference between a secant and a chord is that a chord is a line segment while a secant is a // L

Aln) }HSC,r\j\J).e 0" angle is half the measure of its intercepted arc.»

A circumscribed angle is 180 degrees minus the measure of its J/hler"c;eyﬂ Ar—,
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When assembling a chair iike that shown here, the legs of the chair, DB and AC, are connected at their midpoints.
(E is the midpoint of AC and DB.)
Prove that AABE = ACDE.

- E < Yo mid pw:ﬂ:'fi | 9£4&w£ !)G:»PV "

2 AE - EC

2. Definition of Midpoint

BE - [fD
e 3. L
3. Aé-: = [:C/ De:f'r‘nl%ﬁ*‘l O'Q
BL = E£D (,onﬂm,»eAQ&
4,
4.+ AEB = s (ER Ve rfreaf A—r\j lo. TReorem
5.
s AABE = AcpE SA S
13)  a) Find the radius. b) PA and PB are
b4 \om /7\\ tangents to circle O.
1O A ,'"/ br {f \'\ Find the measure of
Dy - o2 ! the intercepted arc
e Y \.\/_,// @ /} indicated by x.
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150-40= 140\
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£ ¢) ED and FD are d) m«RST = 95 and
' tangent to circle C. Find mSTU = 220. Find
£  the value of x. msSRU = __ |10
_ 0 2 2 msRUT = 8K
F (Y —FX =8 meUTS = __ 70
mIfOR=__ 110
A5+ ¥ = gq mRST = _ |70

‘—/:l

Write the formuia for each: a) Areaofacircle = / [
b) Circumference of a circle= A 71?"
Complete the Ratio statements for each of the following: Py ;eMWLA
a} Ratio for finding Sector Area: 59,;40# OLe A b) Ratio for finding Length of an Arc: ; :
et ‘c ‘ﬁ( Ll rmERrdngg,
Qe o, oY Gl
¢) Ratio fora Central Angle in Degrees: cm—‘-—rm{ w\.ﬂ[& d) Ratiofor a Central Angle in Radians: C_,{,Vﬂtrou[ q,}g)e
_ 360 S LU
a) Find the measure of angle aand arc b, b) Find the measure of angle a and archb.
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14) Usethe word bank to name the term that best Word Bank:

describes the notation below. Radius Central Angle Maior Arc
N Minor Arc Tangent Line Diameter
1. AB Muher~ o€ Inscribed Angle - -Circumscribed Angle Chord _ (\

2. LAIE Cw’r_UMSc,wAeo/ awq/@_,
3. LACE (,Ur‘v ( am/e,
4. HG hokozf VS

5. BE 0(1 ctmenzﬂ r

D o jror* oL C
7. BED (_-LAOI"C?(
8. .DBE __ [~ S‘Cr\;A&J ona (ﬁ

b hae 16)
0. 1 _fengent lne
15)  Triangle ABCis efrcumscribed about the circle, The radius of Circle Cy = 26 in and the radius of circle C; = 10 in.

Find the perimeter of triangle ABCif =8 cm, b The distance between the centers of the two circles is 43 in.
=9cm, and c=18 cm. What is the horizontal length between the two points of

gGD: /é‘) tangency? 2 3
Uy = 36 Liex" =43
— /—\\
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17) a) b) - 1832 o
':_P_Q - )f___ The radar beam sent out by an aeroplane reaches a distance of 12
760 - ! "%eﬁ‘?{* kilometres and covers an angle of 150°. l D 15
= E"r’ = 30 % 73
i -
I7S,G’I7T o ms ngth of the arc DE = 1832 cm % - m(! S‘ X
- 3"17@ 1y W .
Areg = 3 X {7 Area = 35 f nf W Tg - I'“{ ‘iOO"r
—— a7 BT Ly g o0
.E&_l‘ = 7509017—
. I2- /a
Calculate the area covered by the beam.
18) a) Findthe radius b} Find the length of the major arc. c) Find the ceniral angle in rar;ﬂans.(6 0 OGZW
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